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     ____________ 
 (1) (A)(B)(C)(D)  

 

(2)  

( 35 2 70 ) 

1. 2004 6  

(A)         (B)   

(C)        (D)  

2. 2 5 1.5 1,000

200 0.9   

(A) 75    (B) 75    (C) 100   (D) 100  

3. 63 S&P500 S&P500

2100 60   

(A) 2,000     (B) 1,800      

(C) 2,000        (D) 1,800  

4. VaR1 VaR2   

(A) VaR1 + VaR2       (B)  VaR1 + VaR2 

(C) VaR1 + VaR2       (D)  

5.   

(A)    (B)   (C)    (D)  

6. 900 1,500 12,000

(RAROC)  

(A) 2.5%    (B) 5%    (C) 7.5%    (D) 10% 

7.  

5,000,000 -3,000,000 100,000  

(A) 135,000   (B) 285,000   (C) 382,500   (D) 700,000 

8.  

(A)     (B)   (C)   (D)   

9.  

(A)   

(B) 1  

(C) 1   

(D)  

10. KMV 250 200 50

 

(A)1    (B)2   (C)3   (D)  

11. BB 600 80%

15,000  

(A) 1.25%    (B)2%    (C) 4%    (D) 5% 

12.  

(A) CreditMetrics        (B) CreditRisk+  

(C) CreditPortfolio View      (D) KMV  

 



13. SPAN(Standard Portfolio Analysis of Risk)  

(A)      (B)  

(C)        (D)  

14. 

34

  

(A) 80% 110%   

(B) 95% 110%  

(C) 80% 125%   

(D) 95% 125%  

15.  

(A)       (B)   

(C)         (D)  

16.  

(A)    (B)   (C)   (D)   

17. J.P. Morgan RiskMetrics Exponentially Weighted Moving Average (EWMA)

=0.94 =0.9  

(A)  

(B)  

(C)  

(D)  

18. 7

10% 25% 1,000 delta

 

1. 5199.0)05.0( N   5 3 1.0)0 7 8.0( N 4  025.1025.0 e      9 7 5.0025.0 e  

(A) -518     (B) -501             (C) 503            (D) 520  

19. Black-Scholes   

2.  

3.  

4.  

5.  

6.  

 

 

(A)  [1- N(d1)]  

(B)  [1- N(d1)]  

(C) N(d1)  

(D) N(d1)  

20. gamma  

(A)    (B)     (C)   (D)  

21. 50 30%

 

(A) 2.37%     (B) 1.67%   (C) 0.71%   (D) 0.49% 
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22. vega-neutral  

(A)          (B)   

(C)       (D)  

23. t  

(A)     (B)     (C)    (D)  

24. delta= –0.25  

(A) 4         (B) 4    

(C) 0.25       (D) 0.25  

25. delta-neutral gamma  

(A) vega    (B) theta    (C) rho    (D) sigma  

26. delta gamma  

(A) delta gamma 

(B) delta gamma 

(C) delta gamma 

(D) delta gamma 

27. (Credit Default Swap, CDS) (Spread) 124

30%, (Binary CDS Spread)  

(A) 37    (B) 135    (C) 177    (D) 204 

28. 3 95% 2,015 1 99%  

05.0)65.1( N , 025.0)96.1( N , 01.0)33.2( N   

(A) 672    (B) 824    (C) 1,643   (D) 2,471 

29.  

(A)         (B)    

(C) Delta-Gamma       (D) Delta-Normal  

30. 1 95% 1 10 7%

1

 

(A)    (B)    (C)    (D)  

31. delta 30

1.1 3% 5 97.5%  

05.0)65.1( N , 025.0)96.1( N , 01.0)33.2( N  

(A) 3.76    (B) 4.34    (C) 5.29    (D) 7.85  

32. 1 A 5 B 2%

1% 0.3 10 95%  

05.0)65.1( N , 025.0)96.1( N , 01.0)33.2( N  

(A) 1,513,129   (B) 1,368,405  (C) 1,149,091  (D) 965,187 

33. A B 100 30

delta 1,200 20,000 2% 1%

0.3 5 99%  

05.0)65.1( N , 025.0)96.1( N , 01.0)33.2( N  

(A) 11,714   (B) 17,099   (C) 36,986   (D) 52,306 

34.  

(A) 5,701    (B) 6,778    (C) 9,587   (D)  

 



35. Merton (1974)  
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   _____________ 
 (1) (A)(B)(C)(D)

 

(2)  

35 2 70  
1. 10,000 3.0% 2.0%

 

(A)10,100.50    (B)9,975.03    (C)9,900.50    (D)10,025.03 

2. 7 9 CBOT 353 366 /

 

(A) 7 9  

(B) 7 9  

(C) 7 9  

(D) 7 9  

3. 78.50

84.40 60% 6.00%

6.50% 0.006  

(A)  

(B) 1.30%/  

(C) 0.90%/  

(D) 6.20%/  

4. delta gamma  

-12,600 vega  -16,600

delta gamma delta

0.6 gamma 1.5 vega 2.0  

(A) 8,300 4,980  

(B) 8,400 5,040  

(C) 8,400 4,800  

(D) 8,400 4,800  

5. NT$1  1 10,000

20.0% 5.0%

 

(A) 9,500 53     (B) 10,500 48  

(C) 10,500 190    (D) 9,500 211  

6. $50 $55 $45

10% $50  

(A)2.50    (B)5.00    (C)2.27    (D)2.38  

7. PO(principal only) (mortgage-backed security, MBS) IO 

interest only  

(A) PO IO      (B) PO IO  

(C) PO IO   (D) PO IO  

8. 6 7 9 983.0 987.5

6 -10

 

(A) 5.5   (B) 5.5 

(C) 5.5   (D) 5.5 

 



9. US$100M 5 2.5%

2.0% 90

( )  

(A)0.75          (B)90 +0.125% 

(C)0.5%         (D)90 +0.5% 

10. 3 (IRS) 3

2.50/2.80  

(A)0.30%    (B)2.50%   (C)2.80%   (D)2.65% 

11. 100

15% 1

30% 21% 19%  

(A) 15        (B) 15  

(C) 6         (D) 4  

12. David 1 TNX 10 YTM 82 TNX

2 US$100 TNX 88 David

 

(A)200     (B)600    (C)800     (D)400  

13. 350 9,500 250 9,700

 

(A)600      (B)500     (C)400     (D)100 

14. NT$100 (TSMC) 40%

99% =2.326 Value-at-Risk  

(A)120.00   (B)93.04   (C)279.12   (D)161.15  

15. NT$60 beta=1.2

10,000

200  

(A)2,500    (B)3,000    (C)3,600    (D)6,000  

16. 15%

3.75% 10% 7.50% ( )

 

(A)70%    (B)75%    (C)25%    (D)30% 

17. Duration  

(A) 6%     (B) 2%  

(C)         (D) LIBOR  

18. Put Options  

(A)      (B)  

(C)        (D)  

19. 0  

(A) (zero rate) 1~1.5  

(B) (zero rate) 1~1.5  

(C) (par rate) (zero rate)  

(D)  

20. (settle price) 103.5

(cheapest-to-deliver bond)  

(A) 110.00 (conversion factor) 1.04 

(B) 130.00 (conversion factor) 1.25 

(C) 141.00 (conversion factor) 1.35 

(D) 160.00 (conversion factor) 1.52 

 
 



21. (Apple)  

(A) CEO (stock options)  

(B) (call options)  

(C) (warrants)  

(D) (convertible bonds)  

22. 1 4 NT$5 3.6%

4%  

(A) 500,000   (B) 2,000,000  (C) 495,050  (D) 1,980,198  

23. NT$ US$

 

(A) call options     (B) call options 

(C) put options     (D) put options 

24. 0.80 0.40

0.7

 

(A) 1.40    (B) 0.35    (C) 2.1875   (D) 2.86 

25. US$2,000 DV01(dollar value of a 

basis point) $0.0925

US$ 500 CTD DV01 0.0937

1.2514  

(A) 3     (B) 4     (C) 4.5    (D) 5  

26.  

(A)     (B)  

(C)    (D)  

27. HYN 100 98% 100

90 (90% x 100) 3 (S) 90

100 (S) 90 100 x S/90 HYN

 

(A) Fixed Income + Short Put Option   (B) Fixed Income + Short Call Option 
(C) Fixed Income + Long Put Option   (D) Fixed Income + Long Call Option 

28. PPN 100 100

100 (100% x 100) 3 90% 150% (S)

100 90 (S) 100 100  x 

90%+150% x S-100/100 PPN  

(A) Fixed Income + Short Put Option   (B) Fixed Income + Short Call Option 
(C) Fixed Income + Long Put Option   (D) Fixed Income + Long Call Option 

29.  

I.  

II.  

III.  

IV.  

(A) II III  IV  (B) I III  IV  (C) II  III   (D)  

 

30.  

(A) gamma vega

gamma vega  

(B) gamma  

(C) Black-Scholes  

(D) vega Long Volatility  



31.  

(A)    (B)    (C)    (D)  

 

 

(ECB) 1,000 US$1=NT$34 ECB  

1.36  

32. ECB US$1=NT$34 NT$29.5 ECB

 

(A)1,350    (B)1,300   (C)1,200   (D)1,150  

33. 25% ECB  

(A) NT$20.8    (B) NT$20.0   (C) NT$19.2   (D) NT$18.4  

 

34.   

(A)      (B) Digital Options   

(C)   (D)  

35.  

(A) 3%     (B) 6%  

(C) 7%      (D) 10% 

 

3 10 30  

1. (1) PPN

5,000 2,000 

95% 70% 5,500 

5  

(2) ELN 100 98

130 125

123 (5 ) 

 

2. (1) 200  

5  

(2) 200 2015  

( ) ( ) ( ) 5  

 

3.  

GBP USD    1.6483 –1.6495 

      1.6400 –1.6410 

GBP      5.25%  – 6.00%   p.a. 

USD      1.75%  – 2.75%   p.a. 

US$1,000,000

USD

10  
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※ (1) (A)(B)(C)(D)

 

(2)  
35 2 70  

1. (GDP)  

(A)     (B)    (C)   (D)  

2.  

(A)    (B)    (C)    (D)  

3. ____ _______  

(A)    (B)   (C)   (D)  

4.  

(A)    (B)    (C)    (D)  

5.  

(A)      (B)  

(C)      (D)  

6.  

(A)    (B)     (C)    (D)  

7.  

(A)    (B)    (C)   (D)  

8.  

(A)      (B)  

(C)       (D)  

9.  

(A)     (B)   (C)     (D)  

10. ________

 

(A)    (B)    (C)   (D)  

11. (Tobin) q ________ ________  

(A)    (B)   (C)   (D)  

12. ________

________  

(A)     (B)    (C)    (D)  

13. ________ ________

IS ________  

(A)       (B)  

(C)       (D)  

14. 1997  

(A) (Myron Scholes) (Robert Merton)  

(B)  

(C) 1973   

(D) ARCH  



15.  

(A)    (B)    (C)   (D)  

16. (Yield Curve) ? 

(A)      (B)     (C)     (D)  

17. 3.45% 3% (

) ? 

(A)     (B)     (C)     (D)  

18. (Spot Rate) ? 

(A)   (B)  (C)  (D)  

19. ? 

(A)   

(B)  

(C)   

(D)  

20. ? 

(A)   (B)M1B M1A  

(C)M2 M1B     (D)M1A  

21. 10% 500 5,000 50

? 

(A)5.24    (B)4.67    (C)3.69    (D)6.59 

22. 1,000 ? 

(A) 1,000    (B) 1,000  

(C) 1,000     (D)  

23. ? 

(A)      (B)  

(C)      (D)  

24.  

(A)     (B)  

(C)     (D)  

25.  

(A)        (B)  

(C)        (D)  

26. C=1,000+0.75Yd Yd 100

? 

(A) 1,000     (B) 0.75 

(C) 900     (D) 100 

27. ? 

(A)   (B)   (C)   (D)  

28. (Phillips Curve)  

(A)     (B)    (C)    (D)  

29. ? 

(A)     (B)  

(C)         (D)  

 



30. 15% 15%

 

(A)         (B)    

(C)        (D)  

31. (Eurodollar Bond)?  

(A)  

(B)  

(C)  

(D)  

32. ? 

(A)       (B)  

(C)      (D)  

33. 1,000 500 100  

(A)17%         (B)67%     

(C)50%         (D)40% 

34. ? 

(A)         (B)     

(C)         (D)  

35. 100 7% 5%  

(A)1,600,000        (B)1,050,000    

(C)1,200,000        (D)1,400,000 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



3 10 30  

1.  

         C 300+0.5(Y-T) 

         I 100-400r 

         G 100 

         T 100 

         Md/P 0.5Y-200r 

         Ms 6300 

         7 0 0Y   

         Y r T  

(1) (Aggregate Demand Curve) 2  

(2) P 15 (Short Run)  

8  

2. IS-LM AD-AS  

(1) ? 5  

(2) ? 5  

 

3. ( )  

 

 

 


